
GENUINE

T50®

STAPLES











Adjustable Exhaust Cover

Contact Safety Mechanism

Easy Load Magazine

Easy
Release
Latch

Overmold Grip
Quick
Release
Connect

Disconnect Tool from hose Press Easy Release Latch

Pull Out Pusher Assembly
Place Staples Into
Magazine From
Outside

Push Back Pusher Assembly
& Ensure It Locks



#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE



Quick

Connector

Quick

Connector

Quick

Coupler

Quick

Coupler

Air Hose Regulator

Filert

AIR

Compressor



1

22 33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55
56

57

58

59

60

61

62

63

23

24

25

26

27

28

29

30

31

32

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY
01 Hex Bolt M4X20 6 15 O-ring 15.5X2.4 1 29 Trigger Valve Stem 1 43 Position Pin 1 57 No-mar Pad 1
02 Washer 4 6 16 Retaining Ring 1 30 Trigger Valve Seat 1 44 O-ring 1.2X1.9 1 58 Nail Pusher 1
03 Exhaust Deflector 1 17 Firing Pin 1 31 O-ring 11.2X1.9 1 45 Spring Pin 2.5X10 1 59 Mobil Magazine 1
04 Cylinder Cover 1 18 O-ring 31.5X2.65 1 32 Spring 1 46 Hex Bolt M3X6 1 60 Hex Bolt M4X12 1
05 Shim 1 19 Cylinder 1 33 O-ring 31.3X3.5 1 47 Fixed Magazine 1 61 Spring Pin 2.5X16 2
06 Compression Spring 1 20 O-ring 24.5X2 1 34 End Cap 1 48 Plate 1 62 Magazine End Stopper 1
07 O-ring 11.7X2.5 1 21 Bumper 1 35 Air Inlet Plug 1 49 Driver Guide 1 63 Spring 1
08 O-ring 26.2X2.5 1 22 Rubber Grip 1 36 Plug Cap 1 50 Spring 1
09 Head Valve 1 23 Body 1 37 Click Fixer 1 51 Driver Guide Cover 1
10 O-ring 21.2X3 1 24 Nozzle 1 38 Compression Spring 1 52 Bushing 2 2
11 O-ring 10X3.5 1 25 Gaskit 1 39 Spring Pin 3X20 1 53 Bushing 1 2
12 Gasket 1 26 Valve Sleeve 1 40 Trigger 1 54 Washer 5 2
13 Piston 1 27 Trigger Valve Stem Spring 1 41 Trigger Plate 1 55 Hex Bolt M5X20 2
14 Pin 4X10 1 28 O-ring 2.24X1.5 2 42 Spring Pin 2.5X16 1 56 Safety 1



Overmold Grip

Quick Release Connect

Adjustable Exhaust Cover

Easy Release Latch

Bump Fire Trigger

Easy Load Magazine

Contact Safety Mechanism

#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE

Staple Type/Size: Fires 6 sizes of Arrow T50 Staples 1/4” (6mm), 5/16” (8mm), 
3/8” (10mm), 1/2” (12mm), 17/32” (13mm), 9/16” (14mm)  

Gun Body Housing: Die Cast with Powder coating finish

Handle Grip: Rubber Overmold on grip area

Trigger Type: Plastic Injection Molded Trigger for more ergonomic 

Operation Pressure: feel Compressed air between 60 psi and 100 psi

Maximum Pressure: 120 PSI

Air Inlet Size (in.): 3/8” with 1/4” Male Quick Release Connector factory-installed 

Tool Dimensions: Overall Dimensions: Length: 8.3” Width: 1.81” Height: 6.61”

Tool Weight (lbs.): 1.57 lbs.

Safety Features: Contact Safety Mechanism to prevent accidental firing

Magazine Type: Quick Track release lever

Fastener Capacity: Magazine capacity 100 staples

Adjustable Air Exhaust: Directs the air away from yourself and delicate work surfaces.



GENUINE

T50®

STAPLES







Couvercle d'échappement réglable

Mécanisme de sécurité de contact

Magasin à chargement facile

Loquet de
libération
facile

Prise surmoulée
Connexion
libération
rapide

Débrancher l'outil du tuyau Appuyez sur le loquet de dégagement facile

Retirer l'ensemble poussoir
Placez des agrafes 
dans le magasin 
depuis l'extérieur

Repousser l'assemblage du 
poussoir et s'assurer qu'il se 
verrouille



#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE



Connecteur
Rapide

Connecteur
Rapide

Coupleur
Rapide

Coupleur
Rapide

Air Hose Régulateur

Profilé

Compresseur
D'air



1

22 33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55
56

57

58

59

60

61

62

63

23

24

25

26

27

28

29

30

31

32

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY
01 Hex Bolt M4X20 6 15 O-ring 15.5X2.4 1 29 Trigger Valve Stem 1 43 Position Pin 1 57 No-mar Pad 1
02 Washer 4 6 16 Retaining Ring 1 30 Trigger Valve Seat 1 44 O-ring 1.2X1.9 1 58 Nail Pusher 1
03 Exhaust Deflector 1 17 Firing Pin 1 31 O-ring 11.2X1.9 1 45 Spring Pin 2.5X10 1 59 Mobil Magazine 1
04 Cylinder Cover 1 18 O-ring 31.5X2.65 1 32 Spring 1 46 Hex Bolt M3X6 1 60 Hex Bolt M4X12 1
05 Shim 1 19 Cylinder 1 33 O-ring 31.3X3.5 1 47 Fixed Magazine 1 61 Spring Pin 2.5X16 2
06 Compression Spring 1 20 O-ring 24.5X2 1 34 End Cap 1 48 Plate 1 62 Magazine End Stopper 1
07 O-ring 11.7X2.5 1 21 Bumper 1 35 Air Inlet Plug 1 49 Driver Guide 1 63 Spring 1
08 O-ring 26.2X2.5 1 22 Rubber Grip 1 36 Plug Cap 1 50 Spring 1
09 Head Valve 1 23 Body 1 37 Click Fixer 1 51 Driver Guide Cover 1
10 O-ring 21.2X3 1 24 Nozzle 1 38 Compression Spring 1 52 Bushing 2 2
11 O-ring 10X3.5 1 25 Gaskit 1 39 Spring Pin 3X20 1 53 Bushing 1 2
12 Gasket 1 26 Valve Sleeve 1 40 Trigger 1 54 Washer 5 2
13 Piston 1 27 Trigger Valve Stem Spring 1 41 Trigger Plate 1 55 Hex Bolt M5X20 2
14 Pin 4X10 1 28 O-ring 2.24X1.5 2 42 Spring Pin 2.5X16 1 56 Safety 1



Prise surmoulée

connexion 
libération rapide

couvercle d'échappement réglable

loquet de 
libération facile

déclencheur 
d'incendie bosse

Magasin à chargement facile

Mécanisme de sécurité de contact

#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE

Type/taille d’agrafes: Utilise 6 tailles d’agrafes Arrow T50 1/4 po (6 mm),  5/16 po (8 
mm), 3/8 po (10 mm), 1/2 po (12 mm), 17/32 po (13 mm), 9/16 
po (14 mm)

Boîtier du corps du pistolet: Moulé sous pression avec fini de revêtement de 

Prise de la poignée: de poudre Caoutchouc surmoulé sur la prise

Type de déclencheur: déclencheur en plastique moulé par injection pour plus d'ergonomie

Pression de service: Air comprimé entre 60 et 100 psi

Pression maximale: 120 PSI

Dimensions de l’entrée d’air 
(po):

3/8 po avec connecteur mâle à détachement rapide de 1/4 po posé 
en usine

Dimensions de l’outil: Dimensions hors-tout: Longueur: 8,3 po Largeur : 1,81 po Hauteur: 
6,61 po

Poids de l’outil (lb): 1.57 lbs.

Caractéristiques de sécurité: Mécanisme de sécurité de contact pour prévenir le tir accidentel

Type de magasin: Levier de relâchement rapide de voie

Capacité de fixation: Capacité du magasin 100 agrafes

Échappement d’air ajust-
able:

Dirige l’air à l’écart de l’opérateur et des surfaces de travail délicates



GENUINE

T50®

STAPLES







Cubierta de escape ajustable

Mecanismo de seguridad de contacto

Revista Easy Load

Pestillo de
liberación
fácil

Agarre sobremoldeado
Conexión
de
liberación
rápida

Desconecte la herramienta de la manguera Presione el pestillo de liberación fácil

Saque el conjunto del empujador
Coloque las grapas 
en la revista desde 
el exterior

Empujar hacia atrás el 
conjunto del empujador y 
asegurarse de que se bloquee



#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE



Conector
rápido

Conector
rápido

Acoplamiento
rápido

Acoplamiento
rápido

Manguera de aire Regulad

perfilador

AIRE
Compresorr



1

22 33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55
56

57

58

59

60

61

62

63

23

24

25

26

27

28

29

30

31

32

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY PART DESCRIPTION QTY
01 Hex Bolt M4X20 6 15 O-ring 15.5X2.4 1 29 Trigger Valve Stem 1 43 Position Pin 1 57 No-mar Pad 1
02 Washer 4 6 16 Retaining Ring 1 30 Trigger Valve Seat 1 44 O-ring 1.2X1.9 1 58 Nail Pusher 1
03 Exhaust Deflector 1 17 Firing Pin 1 31 O-ring 11.2X1.9 1 45 Spring Pin 2.5X10 1 59 Mobil Magazine 1
04 Cylinder Cover 1 18 O-ring 31.5X2.65 1 32 Spring 1 46 Hex Bolt M3X6 1 60 Hex Bolt M4X12 1
05 Shim 1 19 Cylinder 1 33 O-ring 31.3X3.5 1 47 Fixed Magazine 1 61 Spring Pin 2.5X16 2
06 Compression Spring 1 20 O-ring 24.5X2 1 34 End Cap 1 48 Plate 1 62 Magazine End Stopper 1
07 O-ring 11.7X2.5 1 21 Bumper 1 35 Air Inlet Plug 1 49 Driver Guide 1 63 Spring 1
08 O-ring 26.2X2.5 1 22 Rubber Grip 1 36 Plug Cap 1 50 Spring 1
09 Head Valve 1 23 Body 1 37 Click Fixer 1 51 Driver Guide Cover 1
10 O-ring 21.2X3 1 24 Nozzle 1 38 Compression Spring 1 52 Bushing 2 2
11 O-ring 10X3.5 1 25 Gaskit 1 39 Spring Pin 3X20 1 53 Bushing 1 2
12 Gasket 1 26 Valve Sleeve 1 40 Trigger 1 54 Washer 5 2
13 Piston 1 27 Trigger Valve Stem Spring 1 41 Trigger Plate 1 55 Hex Bolt M5X20 2
14 Pin 4X10 1 28 O-ring 2.24X1.5 2 42 Spring Pin 2.5X16 1 56 Safety 1



Agarre sobremoldeado

Conexión de 
liberación rápida

Cubierta de escape ajustable

Pestillo de 
liberación  fácil

Disparador de fuego 
Bache

Revista Easy Load

Mecanismo de seguridad de contacto

#509™#50CT™#508™#506™#505™#504™

T50
® STAPLES

GENUINE

Tipo de grapa/tamaño: Dispara 6 tamaños de grapas Arrow T50 1/4” (6mm), 5/16” (8mm) , 
3/8” (10mm), 1/2” (12mm), 17/32” (13mm), 9/16” (14mm)

Carcasa del cuerpo de la 
pistola:

fundición a presión con acabado de recubrimiento en polvo

Empuñadura: sobremoldeado de goma en el área de agarre

Tipo de gatillo: gatillo moldeado por inyección de plástico para una mayor ergonomía

Presión de operación: siente aire comprimido entre 60 psi y 100 psi

Presión máxima: 120 PSI

Tamaño de entrada de aire 
(pulg.):

3/8 “con conector macho de liberación rápida de 1/4” instalado de 
fábrica

Dimensiones de la herra-
mienta:

Dimensiones generales: Longitud: 8.3 “Ancho: 1.81” Altura: 6.61 “

Peso de la herramienta (lb): 1.57 lbs.

Características de seguridad: mecanismo de seguridad de contacto para evitar disparos accidentales

Tipo de cargador: palanca de liberación Quick Track

Capacidad para grapas: capacidad del cargador 100 grapas

Escape de aire ajustable: dirige el aire lejos de usted y de las superficies de trabajo delicadas.






